e SR
e =

INSTALLATION GUIDE:

SINISTER

'Y-Pipe ¢+ &

2003-2007 Ford 6.0 Powerstroke




/\

DISCLAIMER

1) By installing this product onto your vehicle, you assume all risk
and liability associated with its use.

2) It is your responsibility to make sure your vehicle complies with
all federal, state, and local emissions laws. Federal and many state
and local laws prohibit the removal, modification or rendering in-
operative of any part of the design affecting emissions or safety
on motor vehicles used on a public street or highway. Violation
may result in a fine of up to $32,500 per vehicle (or possibly higher
depending on changes in the law). All civil penalties and fines for
removing your vehicle’s emissions equipment are the sole respon-
sibility of the end user.

3) Due to its high performance nature, this product may void vehi-
cle manufacturer’s warranty.

4) Sinister Mfg Company, Inc. is not responsible for misuse of its
products. By installing this product, you release Sinister Mfg Com-
pany, Inc. of any and all liability associated with its use.

5) Depending on where you live, restrictions may apply. Check all
applicable laws before installing or using!

6) The purchaser and end user releases, indemnifies, discharges
and holds harmless Sinister Mfg Company, Inc. from any and all
claims, damages, causes of action, injuries, or expenses resulting
from or relating to the use or installation of this product that is in
violation of the terms and conditions on this page, the product dis-
claimer, and/or the product installation instructions. Sinister Mfg
Company, Inc. will not be liable for any direct, indirect, consequen-
tial, punitive, statutory, or incidental damages or fines caused by
the use or installation of this product.



PART: DESCRIPTION: QTY:

M8 Bolts
M8 Nuts
Up-Pipe Flange Gasket

EGR Flange Gasket (EGr Provision only)
Ford Exhaust Bolts

Y-PIPE

UP-PIPE

OMMmM(O|O|T|>
-t |k [ Db =2 [N

IMPORTANT: READ ALL INSTRUCTIONS PRIOR TO INSTALL. Prior to in-
stallation, please compare the parts that you have received with the bill
of materials provided on this page to assure that you have all the parts
necessary for the installation.



CAUTION !'!'! Never work on a hot vehicle. Serious injury in the
form of burns can result if the vehicle has been in use. Allow
vehicle to cool prior to installation. Always wear eye protection
when working on or under any vehicle.

IMPORTANT: Disconnect all batteries whenever working on a vehicle as a safety
precaution to yourself as well as the electronic components on the vehicle. We
recommend applying lubricant to all exhaust bolts.

After removing the
factory Y-pipe, we
recommend loosen-
ing the three bolts
securing the turbo to
the turbo pedestal.

Loosely install the
Sinister Diesel Y-Pipe,
using the factory
V-band clamp at the
turbo and two sup-
plied factory M8 bolts
at the exhaust mani-
fold. (Image 1)

Loosely install the Sin-
ister Diesel Up-Pipe to
the Y-pipe, using the
supplied gasket and
M8x30 hex bolts and
nuts. Note: If install-
ing the up-pipe with
EGR provision now

is the time to loosely
install the gasket and
V-band flange at the
EGR cooler. (Image 2)

IMAGE 2

Loosely install the
supplied factory M8
bolts that attach
the up-pipe to the
exhaust manifold.

3 IMAGE 3




Note: If installing the Y-pipe kit without the EGR provision
skip to step 6.

Tighten the V-band
clamp at the EGR
cooler and ensure
that the cooler, gas-
ket, and up-pipe fully
seat together.
(Image 3)

Making sure the
turbo flange con-
nection is properly
seated, tighten the IMAGE 4
V-band clamp con-
necting the Y-pipe
to the turbo. Tight-
en V-band clamp to
factory specifica-
tions. (Image 4)

Note: On years 05-07
the heat shield behind
the turbo must be unbolt-
ed for the connection to
properly seal.

IMAGE 5

Tighten the Y-pipe to
up-pipe flange bolts
to factory specifica-
tions. (Image 5)

Tighten the bolts

at the exhaust
manifolds to facto-
ry specifications.
Tighten each bolt in
small increments, IMAGE 6
alternating from one

bolt to the other.

This will help to en-

sure a proper seal.

(Image 6)




More Great Parts for your 6.0 Powerstroke!
ShopSINISTERDIESEL.COM

SINISTER TURBOS

Odur Seriesb], 2, Oﬂdh3 Sinister R = N

Edition turbos each have unique

components and performance SOLUTION KITS

specs to suit your specific needs. Fix all your major Ford, Chevy or

FROM $1599 Dodge issues with these all-inclusive
kits that save you time and money.

FROM $599

BLUE CAP KITS ,I‘:EZEIOI:EI;EE hKrIe.Is.i your truck

Sinister cap kits are the easy, affordable with a blue or black Sinister Leveling
way to dress up your engine with Sinister f&%ﬁvq'g’ge for 2WD and 4WD.
Blue. FROM $199

DEGAS BOTTLE

Made of aircraft grade aluminum and
TIG welded at Sinister Diesel'’s
Sacramento head-quarters, this Degas
Bottle outlasts and ougaerforms stoc

plastic bottles. $38

250A ALTERNATOR

Producing greater amperage and
better than stock performance, this
new Sinister alternator features an
aded high-output regulator;
temp bearings and an

upgraded stator. $699

EXHAUST KITS

Gain horsepower, torque and rich,
throaty sound with an aluminum or EIP%F
stainless Sinister Exhaust Kit. 4” and 5". 9
FROM $4






SD-YPIPE-6.0-2018
SD-YPIPE-6.0-EGR-2018

] S INISTER
IDIESEL
AMERIGAN BORN , & BRED.

#1 1IN I’I'I’I lll’l“ll\lill.l. PARTS & I(I

2025 OPPORTUNITY DR. ROSEVILLE, CA 95678 SINISTERDIESEL.COM 877.692.4110



